4% %8 / External view

D view

Fium)

-y
w

-

I%Jmmwuléf]

e

156

HEBAZA / Components

No. 2 / Part name = / Pcs ¥& / Material - RMEAIE / Color+Finish
1 #H/3— / Cover 1 #% SECC / Steel t1.0 SECC 75v% / Black
- ____35____j<‘$1 2 | %— /Base 1 7 LA /Aluminium A1050P t1.5 | 7594 / Black
) Q_J 3 3 3—3—#—FK / Corner Guard 8 TPE TS99+ L—%AE—-LYEK / Black-Gray-Navy*Red
4 BAE R(RATUFHRILEMA x 8) 18 % =@E/OA—+
screw (Hexagon socket head M4 - 8) steel Black trivalent chromate
HXF / Carrying Handle 1 PU. PA, ABS, Steel 7597% / Black
3 BFRAE R (FREYE ST MS x 8) 4 % =ffiynr—h
« screw (Panhead tapping M5 - 8) Steel Trivalent Chromate
MAN—Ev— NDEMERBMNIETY , / Inner side of cover and base are conductivefinished.
\ = s
e & I
26
=
A view C view
‘”.
‘Cg ()]
“5 Ll
LR [**"niw %5
[f 1 & 4 ol
=] o I I
i ~ | |
| |
[ A ™ Fr‘h}jﬂﬂﬂﬂﬂﬂﬂﬂﬂllﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂ AF
AL L J < N apooononononoooooana = 0
J ( N——J ___/
210 240
43 140 43 43 170 43
226 256
F view

KIA—F—H—RFT—RE£FHEDTY,

HCorner guard should fasten together with enclosure when assembling.

F view

itk (BUFEXREDOQ) / Color Type (End of product numberd)

[TAKACHI] #X&#tahFEHIE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4 /Title

a—F—H R —2

o]

585 / Code 2|K_17F / Body :I—ﬂ'—ﬁ_—ls / Comer guard | ERF /\ Carrying Handle YV R Term—" W Cromed ggggﬂ:z:cf:f:bv::h CORNER GUARD RE/Scale
BB 73v% / Black 73v% / Black 7597 / Black 15
BG 5595 / Black FL— / Gray J59% / Black MCG21-14-24B[0]
BN 559 / Black FAE—/ Navy 559 / Black AR 1RE * "3
BR 5594 / Black Lk / Red 594 / Black fERH/Date  2018/11/13




$H/\— / Cover

D view

E view

15

6-@5.5

4-M4x0.7/N—1) > T

4-M4x0.7Burring

140

T9]
—

A view

F view

15

15

210

127.5 28

28

G(2:1)

<
| o
/ <
3
C view _.
2-M4x0.7/\—) 5 T
2-M4x0.7Burring
15 15
7o}
2-@5.5
G
— |\, &8Ssss= acocsisocacssEes)
™ — EEEEEELELEREELELEEE Y o
EEEBELE
* 144 * Inside Conductivefinished
240
fn4a/Title

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

aA—F—H—RFr—X
METAL CASE with CORNER GUARD

o]

R/ Approved

iR

1% [X|/Checked X /Created

1% H ES

R /Product number

MCG21-14-24BL1]

RFE/Scale
1:5

{ERL B /Date

2018/11/13

2 /3




x—/ / Base

D view

E view

A view

F view

C view

B view

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

fn4a/Title
J—F—H—FftHr—X
METAL CASE with CORNER GUARD

o]

A& 8/ Approved

iR

1% [X|/Checked

1% H

X /Created

e

R /Product number

MCG21-14-24BL1]

RFE/Scale
1:5

{EBL B /Date 2018/11/13

37/ 3




